Interval Notation: S3

One-Step Inequalities

Choose the solution that describes each inequality.

1 %54 2) x+5<11
a) (16, ) b) (-0, 16) a) (6, ) b) (oo, 6]
C) (-0, 16] d) [16, ) c) [6, ) d) (-0, 6)

‘Preview

Become a member to unlock

unrestricted access to both printable
and online worksheets.

www.tutoringhour.com

a) [4, o) b) (-eo, -4) a) (18, «) b) [18, «)

) (4 ) d) (=4, ) Q) (-e0,18) d) (-co, 18]
9) §z3 10) 3x <27

a) (oo, 6) b) (—eo, 6] a) (-o0,-9) b) (-e, 9)
c) [6, =) d) (6, ) c) (9, ) d) (-oo, 9]
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